PSCSCC MAINS EXAMINATION-20Z0
GENERAL STUDIES (PAPER-II)

Time Allowed: Three Hours Maximum Marks: 250

INSTRUCTIONS

Please read the following instructions carefully before attempting questions:

a)

b)

c)

f)

All questions are compulsory.

Word limit for each question is mentioned with the question. Candidates are instructed to
adhere to the specified word limit.

Answers must be written in the medium authorised in the Admission Certificate which must be
stated clearly on the cover of the answer bock. No marks will be given for answers written in a
medium other than the one authorised.

Each question along with its parts and sub-parts is required to be attempted only in the space
specifically allotted to it in the answer book as indicated below:-
Q.1 | Pagesi-2 Q.5 Pages 11—-12 Q.11 | Pages 21-22
Q.2 | Pages3-4 0.7 Pages 13- 14 Q.12 | Pages23-24
Q.3 Pages5-6 Q.8 Pages 15— 16 Q.13 | Pages 25—~ 26
Q.4 | Pages7-8 0.9 Pages 17 - 18 Q.14 | Pages 27— 28
Q.5 | Pages9-10 Q.10 | Pages19-20 Q.15 | Pages 2930
Q.16 | Pages31-32

The space corresponding to any unanswered questions will be marked with a cross.
No extra sheet shall be given.
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Q.2

Q.3

Q.4

Q.5

Q.6

‘More number of constitutional amendments in India were carried out because of
political necessity than of constitutional need’. Elucidate. (200 words) (Marks 15)

g93 feg TUdt Afeosa AU Aieusd &3 96 adl Al AT 7993 96
SEhrt aretnrt| =9Es a9 1 (200 HER) (i 15)

a) ‘Probity in public life is an internally induced behaviour than an externally
administered action’. Explain (100 words). (Marks 10)

b) Examine any of the two recent E-Governance initiatives to illustrate how they have
"~ enhanced transparency and efficiency in government services. (100 words)

(Marks 10)
8) 7o3x Hiws feg fonrssedt Todt Aofes aod &8 wisand 4fes =93€ J|
fenfemi a31 (100 FEE) (e 10)

w) TI-IRIGH ¢ I3 aut © Quafent T fadhuz a9 fa 8af enfor At
Feet fog UgedrsT »i3 gReST g fo= @or |37 fam J1(100 7ae)
(i 10)

Analyse the major issues creating tension in relationship between the Centre and the
States with reference to recent controversies. (200 Words) (Marks 15)

TEMT feeret T gen fafent g »i3 A feo® muu’ feo 3@ Uer @95 ¥
HY 9aT ©F feRdnE a9 1 (200 HIR) (= 15)

The phenomenon of political defections in India has assumed large proportions in recent
years. Bring out the factors responsible for this. Is it right to say that ban on defection
will amount to suppression of freedom of thought and action? (200 Words)

(Marks 15)

AHEE 3793 feg fmrdt eomednt o Wi @37 gu nifanmg a9 fomr 31 few
RS foiee a9s ©R | & feg afoe Tmg 38ar fa Toged 3 uedl Aear fe99
WS aT9H ©F et 2g 7Aredn? (200 HET) (WX 15)

“The Representation of the People Act, 1951 is not an effective preventive law against
criminalization of politics and corruption in public life”. Analyse. (200 words) (Marks 15)

“Fx yf3fer ez, 1951 THalsT T MUdTiEds »S Ae3d Al 99 fgnea das
e graard Bt 917 ferd@HE 91 (200 7EY) (M 15)

The strength of any modern democracy is based on the deliberative functions of the
Parliament. How do you evaluate the role of Indian Parliament as a deliberative body in
the light of its working in recent years? (200 words) (Marks 15)
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wWOfed Ta339 € 393 AR © 935 w3 fege seies © aon Qug fegsg T
L] n ] i) n - . = -

IIXT IIGHST ASHY F9ST AAE T 935 wiE feurg weieq < AR € gu fe

HoiaE fa= a9dr? (200 HET) iz 15)

Independence of the Election Commission is a pre-condition for holding free and fair
elections. Critically analyse the constitutional safeguards for the impartial functioning of
Election Commission. (200 words) (Marks 15)

A333 W3 foouy 93 S9=@s ool d¢ SfHAS ©f H3393T fod Hed #93 J1 9
afHAs & fsaty aragarat @t Afeusy Adfaw ygut & wWiogs3Ha fegdns 9|
(200 HI) (W 15)

The Companies Act, 2013 has made Corporate Social Responsibility (CSR) mandatory for
business corporates in India. However, the impact of CSR contributions towards social
welfare and environmental protection still remains inadequate. Comment.
(200 words) (Marks 15)

T RUBIH Wi, 2013 3 93 © QU JIUIST e Frgudet HHHS fiTREd (CSR)
Tt &9 fest 91 feg <t soude PR Foftm € Gees € »iAT AHAS SwET
w3 TIEIE ©F Fomr fem wm & swer 1 fPuS &9 (200 HIE)

(M 15)

India’s democratic governance confronts the challenge of manipulation by private
interests. Critically Analyse. (200 words) (Marks 15)

I3 Tasi3a AHG ot fa3t owiar &3 AT #3 33 ot gasmit & Ao
IITT J| WGIoSHA ferdHE a9 1 (200 HEE) (Wi 15)

In 2019, the Supreme Court ruled that the office of the Chief Justice of india is a public
authority under the 'Right to Information (RTI) Act. Discuss the significance of this
judgement by explaining the implications of bringing office of CJI under the RTI.
(200 words) (Marks 15)

2019 feg BUTH J9e & »ug foge It 393 T Hy fonidiy & Fee yust wiae
withs #&3a nETae! Wifs &= 1 Y fenidiy € Te39 & HosT YU 95 ©
niftarg wige widts wis 7% Je =9 yge 3foz fon fogd & wiss feg)

(200 FEE) (mie 15)

a) The Quadrilateral Security Dialogue may not be a reliable long-term counter to
China because it shall always remain dependent on the policy preferences of a
US President. Critically Analyse. (100 words) (Marks 10)
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0.12

Q.13

Q.14

Q.15

Q.16

b) The recent war between Azerbaijan and Armenia has indicated that the conduct
of warfare is set to change drastically. Explain. (100 words) (Marks 10)

) oI3gsH goftwr Hew mfee 5 AN o dis fedu s9nter 9 &dt faffa
feg mEr wiHdlaE ITHSIUST it Bi3T 39ntar 83 5939 I | T TESHA
fer@ms 991 (100 FI9) (= 10)

W)  wEITEES w3 wioHEh feoae 33 Har 3 Hos &9 fesr 9 ¥
n_n

yusist v fegrg ydt 3§7 gTee welel J| 986 &91(100 HEE) (i 10)

The changing geo-economic factors in Pakistan will stabilise the South Asian Region.
Critically analyse. (200 words) (Marks 15)

UfaAss § FE0e SAfGE-meEs I%s el THEr 839 ¢ a9 a9ad|
WEIeIHA ferdns &1 (200 FI©) (= 15)

With China inheriting the Soviet Union’s ahility to directly rival the US and empower its

.opponents, is the world witnessing a revival of the Cold War? (200 words) (Marks 15)

Ot =% FEMi3 gamis e mindlar a7 frar yarees a9 »i3 8 © fedunf 3
AHSS &9 &% o HATT &9 1l @ 8us Jer 9y far T 2 (200 maw) (0 15)

What has been Canada’s response to India’s proposed Farm laws? How will it impact
India-Canada’s bhilateral relationship? Critically Analyse (200 words) (Marks 15)

I3 TG FIE U G §Y A8 T ot YSiaaH fur? fer 5% gag-oasT ymud
HEOt 83 o »HS UBAT? wEEsSHY fTASHE &9 1 (200 HIT) (M 15)

Despite the aim for an Atmanirbhar Bharat India shall find it difficult to detach itself
from China’s supply chain at least in the short run. Comment. (200 words) (Marks 15)

‘wir3H fogs9 37938° o de © gege Uit 83 AN 3 3793, s € muwel
5 &% ger J& feu yafa® o Arons J9ar| Ut 91 (200 mgE) (01 15)

What is the mandate of WHO and how binding are its decisions? Examine the role

played by WHO in context of COVID-19 Pandemic. (200 words) (Marks 15)

fere T3 FRET @ of wien I »i3 fore SR8 48 3 ot 51 dfes-19 HatHrat

B9 fere fros Arer @ fegrel ghtar e fodhus g1 (200 Fee) (Wi 15)
gk
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